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336 JTSTSTTS 3TeTSH TegIoT T3 Ay [stee [50000] 553 0.80 |7d AR [SoAdel S13R, et SguN, [Seeh, qad= LIE
337 AEerd Fold TaToT TT3 aY  |sfee [45000] 553 2.09 |70 ER_[sAael S13R, A Siigvl, e, ga=r qa
338 AT TERTA AR ELE] Ay [stee [45000] 463 121 [ @R [d= ssolt =
339 TS RIaTA geaad I3 Ay [stee [ 45000 96 1.60 [7TdeT [QER_[SeIdel S13R, et Siisofl, (e, Taad CIES
340 T3 AGIE, TSgToT %3 aeY  [siee [50000] 559 1.20 |7 [AER_[SaAd S13R, At SISl foeeh, qu=r LIS
341 THA FIRIRTT TegIoT TT3 aY  |sfee [45000] 558 0.80 |7dT FER _|soAael S13R, AT Siigvl, e, ga=r qa
342 Yol STCTRY ek ISCITSETOT Ay [siee [49000] 166 1.64 |7dieT [AER_[saAdel S13R, Aol SISl foseh, Tu=r LIS
343 ITARTH SIS s [8eRT A [dieg | 45000 77 1.67  |TdT [QER_|SIdel S13R,d1eT Sisofl, f&aew, Taad CIES
344 SATTehIETS, [Rehlol dlhe EEED aY  [siee [45000] 13--2--4 1.42 |7 ER_[sada S13R, At SN, foseh, que=r LIES
345 TETH S&HUT HTeRIT IRWST AT [dteg | 48000 68 154 |77 [QER_[saIdel S13R, et Sisofl, f&ee, Taa LIE
346 TAN BhRITT Sl BEEN Ay |stee [60000] 13--2 1.26 |19 @8R [soAaa 913K, et sl &, aaaa LIE]
347 3T AT ek ISCITCRTIT ey [stee [48000] 155 1.61 |7 [AER_[saader S13R, At sisol, e, aaea LIE




348 Stast TMifaexra 3 BEE 7Y [aY  [sfe [ 55000 154 121 [ ER [sAaa 913K, st sl &, aaa= LIE]
349 STATHTRS TR ook IMSeITcgIoT |93y [ATer  [sitg  [50000] 167 1.09 [T [QER _[sa1del S13R, et Shisofl, f&eew, Taae LIE
350 ToreIeId TETeT WeeR ISGITcEIUT |9y AT [sieg | 45000 167 0.80 |7 RER [so1aa S13R, AT asof, &, aaa= LIE]
351 AT ES T EeG & [amr  [seg [ 70000 35 1.79 |77 QER_[sa1de S13R, et Shisoft, e, Taae LIE]
352 Bl A T ERGI ¥ Ay [steg [ 70000] 319 3.24 |70 RER o0 S13R, A asof, &, aaa= LIE]
353 ISaT ITHTSN HaY gaTel g%y [aAer _[steg  [45000] 321 154 |71 [QER_[SeIdel S13R, et Sisofl, f&ee, Taae LIES
354 TG, AT et RGN ooy [aAer  [seg  [45000] 321 155 |78 @8R [soaa 913K, et sl &, aaa= CIE
355 THAA gIAG Fhlhs. eI o [amr  |steg [35000] 325 1.70 |79 [GER_[saAdel S13R, 3t shigof, e, 1aaa =
356 Scdd 376U T3 ERGI 9%y |aAer  |Sieg  [45000] 319 1.08 [ RER [soTae S13R, diet sisult, &9, U, oo asq |91
357 P FRAATY 'Y EeGl g%y [aAer  [steg  [45000] 319 3.24 |79 [ER_[SAqe S13R, A1t siigvll, e, goia T
358 TERTH GHTSH T37 ERGI 9%V |ATeY  |sfeg [ 45000] 319 1.62 |9 [AgR_[so1ddl a3R, A Sisoft, &, qaaa CIE]
359 AR TS T EeG g%y [aAer  [steg  [45000] 319 1.62 |19 QR _[SaAdel S13R,deT shigofl, e, 1aada T
360 FEHETS golld 3 et ot [ar  [sieg [ 35000 24/ 0.91 |79 R [So1ae 3R, A stisoft, &, yaaa CIE]
361 TR 2 Bh o foreret 9%y [Aer  |deg  [40000] 2473 3.01 |70 RER [soaa 3R, a1 sof, e, qaga LIE
362 Solld ARIAT 3l [EGE 939 [ [sieg [ 45000 1--4 0.45 |79 fgR_|So1ae 3R, A stisoft, &, yaaa CIE]
363 AT FERTT dED LHLH 9Y [y [sfe [ 45000] 257 0.54 |7d R _[SAae S13R, a1t siigvll, e, goia LIE
364 THRTT FIIERE dcgs TTEr 939 [ [s§ieg | 45000 251 0.54 |79 fgR _|So1ae 3R, A stisoft, &, yaaa CIE]
365 AR e TR TART g%y [aAer _ [steg  [40000]  3--2 053 |Fd [AER_|qWR &4, 96T LIS
366 TS A Bk [EGE 939 [ [sieg [ 35000(  24/31 2.20 |79 fER _[|So1ae 3R, A stisoft, &, yaaa CIE]
367 TERA P ek ITSCITcgIoT 9%y |y [sieg [ 48000 70 2.00 |70 RER [soaa 3R, A sol, e, aaaa a3
368 PR ATHA HidD EERCIEN g%y [ATeY [t [ 45000] 498 0.50 |70 [ER [soad S13R, et sieof, i, qaaa CIES
369 3THIST PRI are FraT 9oy [A8Y  [sfe= [ 50000 27 0.67 |70 RER [so1aa M13R, A Ssol, &, aaaa a3
370 TS AT 3R qrelT 9%y [ATeY [t [45000] 170 140 |79 ER [sAaa A13R, AT sisvf, e, aaa= EIES
371 THETS fAdcdl ashsd BERGIEN & |a@r  |steg [40000] 411 2.00 |79 TR _[d=t Seoh, e, 7o T
372 Reere egaa AR e 1. |9y [aIEr st [45000[ 375 150 [7Tde [QgR _[det siigof LIS
373 e e e ol Ty [y [sfe= [ 48000 72 1.09 [ [AER _[saadel Si3R,det shigoft, e, 1aaa a3
374 19T o i3y Elrsil 9oy [aY [ | 48000 72 1.09 |79 R [saaa 3R, AT ssvft, e, qaa= EIES
375 3Tol AT AT 3feRarST 9o¥ A8y [sfeg [ 50000] 411 1.20 [ RER [seaa A13R, A Sisof, &, aaaa =
376 AT THFERTT JeIT=T 3/ arer oY [T [sieg [ 45000 53 1.80 |71 AER [auR &=, qaad q=
377 Scdd AT TereT 3T 9oy a8y [sfe= [ 50000 102 1.00 |78 [ER [gwaa =
378 IR [AGeRE g9t EERCIEN 9% [AeY [t [ 60000] 411 1.20 [ [AER _[SAde dI3R, st s, f&ees, qaaa CIES
379 TRARTT FI% aTHS 3feRarar go¥ a8y [sfeg [ 60000] 411 1.60 |91 [AgR_[SoTddl 13K, A Siisvft, fSee, gaaa a3
380 35 TBaToN Bk EIECic 7Y [ [§ieg | 45000 22 1.61 |79 RER_[so1dd a3R, A sisoft, e, aua=r CIE]
381 EEACERECIGE 3T g%y [T [steg [ 45000 71 072 |7d= RéR [fa,auw= LIE
382 SRS GaX1d 3THIRK 37ehTell gy |18 [seg | 45000 86 0.76 |70 AER _[soaer S13R,dreT sigof, foees, quaa CIES
383 3720 HAGIG, S BIECIC g%y [aAer  [steg [ 40000 111 1.92 |79 [AER_|SeTde SI3R, a1t Sitgef, f&ees, aaaa KIE]
384 ey gRA> dhas FAPs Ty [aY [t | 50000 67 0.62 |79 &R CIES
385 I3 FIRERTT 6D EELCIED JeY [AET_ |site | 45000 84 0.69 |Ad fAER _|Soaael S13R, st Siisvlt, e, qae 3T Bleadl aTeT,
386 HiSheT IS TegToT BELCIEN 9% [A1eY [t [50000] 411 2.00 |7d= ER |9 Sheoh, auR, 99ga EIES
387 e ReRE g 3T qoY [y [sfeg [ 40000] 53/54 1.80 [ [QER_[SeTdel S13R,a1el SN8ol, f&eeh, qaad a3
388 T3eRT TEIH IMIHATS gladWsl  |9%9 AT [t [45000] 135 1.60 |8 QER [saAder 3R, d1st sisvf, f&es, qaaa CIES
389 TR FheraR 9 g g5y [y [sfe= [ 50000 54 341 |70 RER [soaa 3R, A Ssolt, &, aaaa LIE
390 TETETS JFEI drhds EUC] %Y |1 |sitg  [50000] 542 059 |0 QER |Saad 3R, At shisol, e, dud< EIE]
391 ARG HhehAR S S 7Y [a8Y_ [sfeg [ 50000 54 1.00 [79= @R [ Ssoh, awr LIE
392 HATAET Ao ST AgreT I%Y [T |diee [ 45000] 93/94 0.64 |7d ER _[SAdel S13R, 3N Sl e, gu=r qa
393 ST BTV el Serarst g%y [aAer  [steg [ 40000 95 0.81 [|7d= RER [awrE= LIE
394 AT A&HOT It F-gIal gy [a1eY  [stee [ 40000] 455 091 |7 ER _[SAael S13R, AT Siigvl, e, ga=r CIES
395 TSATSTS ISR Gad SeTaTsT ooy [aAer  [steg [ 46000 6 1.03 |7 [AER_[SaAd S13R, det Sisol, f&aeh, qu=r LIS
396 Fiael NG dThd 3feRaret oY Ay [sfe [40000] 411 0.60 |70 AER [soaa S13R,drT Sisof, e, qug= EIES
397 STHATER YT IcgTor F-grar g%y |AEr  |sieg [ 45000] 257 1.90 |7 [ER_[SaAd S13R, det Sisol, f&eeh, qu=r LIS
398 AR ARG TS FIETST 9Y |18y [t [50000] 212 2.05 |70 ER S0 S13R,d sieof, e, qug= EIES
399 AT PRATS 3R rAoN g%y AT |sieg  [50000] 114 0.53 |7deT [9ER [$o1ao s13R, et Sneoll, R LIS
400 Hedmell TERH HaRX ARSI gy |18y [t [45000] 629 2.00 |79 RER |[awREd, duga CIES
401 ST TERTH AlAdS Fel g%y [aAer  [steg [ 50000 66 0.45 |71deT [9ER_[Se1ae S13R, e, guad LIS
402 3cdH HATAel dh ED) Ty [T [dieg [ 45000 7 2.05 |7d RER_[sAael 13RI siigvl, e, gu=r qa
403 T fFRTE arg SEEUET |9y |A®r  [sieg | 45000 280 0.60 |7d\ [GER |SoAdel S13R, Aol Sigol, duR, 9= LIE]
404 EGE: RIS Ersall Ty [T [dieg [ 70000 29 1.36 |71 [QER_|saIdel S13R, 1T SS0l, R, 9uer LIES
405 JIadIETS $PTEaRRIE S8 gEar o [ar  [skeg [ 60000 47 0.80 |7 R [3aAder a13R, At siigvl, e, vuda LIE
406 et g AAgqor FrdT o [ar  |steg [45000] 118 040 |70 RER [aWR, 9uad, q




407| SR |a0d #o1a [t TRBOT Ay [sfeg [ 45000 607 1.24 [ ER [sAaa 913K, 9T sl &, aaa= LIE]
408|SaR | SEeTS 91 urseia 3We AT [dieg | 45000 35 042 |70+ ER_[sAael S13R, AT Sigol, e, ga=r LIE
409|TSTR | AU IbRIH T FIAWST Ay [steg [ 40000 37 2.00 |70 ER o0 S13R, A sisof, &, aaa= LIE]
410|TSF x| 311eie; 31fa=ITer arcge SFEUREIT aY  |stee [45000] 302 0.42 |70 FER_[sAael S13R, AT Siguh, e, ga=r LIE]
411|SR_ |Fselie JRTSi 3l AW ar  |sfeg [ 50000 120 1.67 |79 ER [soAaa 913K, et sl &, aaa= LIE]
412|TSaT [T 9@RH &t EREN Ay [stee [50000] 327 1.96 [T [QER_[SeIdel S13R, et Sisofl, f&ee, Taad LIE
413| TR [ 38 Igehars . [SoT Ay [sfeg [50000 10 0.82 |70 RER [soaa S13R, AT sisof, &, aaa= LIE]
414X [3aH o=t Seres TRrael 1. Ay [steg [ 45000 13 1.20 [ ER [saAae 3R, A sl &, aaga LIE
415|SaX _ [#7=eR Toiemeh 3R EGGEIED 3 |sfeg | 40000 25 0.40 |9 38R [3o1ae 3R, dit hgoll, 9k CIE]




